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QUESTION 1

In which of these scenarios do the customer requirements point towards tunneled node, or dynamic segmentation, on
AOS-Switches?

A. A customer has wired I0T devices and wants to be able to control their access. The architect recommends sending
all of their traffic through the MC role-based firewall.

B. A customer wants to manage their AOS-Switches in a more centralized manner. They would like to connect AOS-
Switches to AirWave over secure IPsec tunnels and control all configuration from there.

C. A customer has a branch office with an AOS-Switch and an Internet connection. The customer would like to give
branch office users secure access to the corporate LAN over an IPsec tunnel.

D. A customer lacks physical security and wants to impose 802.1X authentication on wired ports. After employees
complete 802.1X authentication, they should receive full access to the network.

Correct Answer: B

QUESTION 2

Refer to the exhibit.
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A casino and a retail space has an existing Aruba network with Aruba AP-335s. The customer wants to

HPE6-A49 PDF Dumps | HPE6-A49 Exam Questions | HPE6-A49 Braindumps 214


https://www.passapply.com/hpe6-a49.html
https://www.passapply.com/hpe6-a49.html
https://www.passapply.com/hpe6-a49.html

VCE & PDF https://www.passapply.com/hpe6-a49.html
2024 Latest passapply HPE6-A49 PDF and VCE dumps Download

DacocAnmnilvyv ~coam
':-)f,-|_ :_‘.-;.;--,”..i NVY.COI

deploy Meridian and enable proximity-based campaigns. The exhibit shows a segment of the floor plan.
When visitors enter the areas circled in the exhibit, they should receive a targeted notification about
promotions and sales.

What should the architect explain to the customer about how to finish the solution?

A. This solution will require about 6 battery-powered beacons, which can be managed by the APs.

B. While these APs cannot act as beacons, they have a USB slot that accepts USB beacons.

C. The customer can enable the built-in BLE capability in the AP-335 radio to meet these requirements.
D. The customer must remember to purchase a Meridian Maps license with the Campaigns license.

Correct Answer: A

QUESTION 3

A retailer currently has two redundant ClearPass C2000 DL360 Gen9 hardware appliances and two perpetual 1K
Access licenses. The customer uses ClearPass to authenticate employee wireless devices and other corporate wireless
devices. ClearPass logs indicate that peak license usage is currently 1900. The customer now wants to add a guest
access solution. Guests will connect to an open SSID and redirected to a portal which they can use to self-register and
log in. The customer anticipates that up to 1550 guest devices will connect at the same time.

The customer requires the most cost-effective solution that will meet the requirements. What should the network
architect recommend for this solution?

A. Two 1K Guest licenses

B. 1K+500 Access licenses; Two 1K Onboard licenses
C. 1K+500 Access licenses

D. 1K+500 Access licenses; 1K+500 Guest licenses

Correct Answer: B

QUESTION 4

A customer has multiple, very small branch sites that require just one or two APs each. The office has a
local Internet connection, but the traffic is destined to the corporate data center, which has an Aruba
wireless solution.

Which branch office solution best meets the customer needs?

A. RAPs and 7005 branch office controllers with an SD-WAN license

B. RAPs and no branch office controllers
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C. CAPs and 7005 branch office controllers
D. IAPs and 7005 branch office controllers with an SD-WAN license

Correct Answer: D

QUESTION 5

A school district has instant APs (IAPs) at multiple locations. The school district wants a simpler way to manage the
IAPs from a single location. However, it does not have the IT staff to handle the installation

and management of a management solution on site. What should the architect recommend?
A. Purchase a subscription for Aruba Central device management.

B. Deploy Aruba AirWave in central location.

C. Purchase licenses for a Virtual Mobility Controller (VMC).

D. Deploy an Aruba MC in a central location, and convert IAPs to CAPs.

Correct Answer: A
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